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PART ONE

1 . Vocabulary and Structure(10 points, 1 point for each ) A R 51 & 6] 4 NETAPELE — P RE
FER, HETBRELBAENFEAE,

1. Can you see those beautiful ? One of them is Tom’s aunt.
A. woman doctors B. women doctor C. women doctors ID. woman doctor
. Our new house is very for me as I can get to the office in five minutes.
A. adaptable B. comliortable C. convenient D. available
. Most stories of this kind, told for such purposes, are invented.
A. that are B. itis C. which is D. as are
. A person of fine behaves well on all occasions.
A. raising B. bringing up C. growing D. breeding
. They commonly rely on argument to support their own theories and to _______ the theo-

ries of others.

A. reflect B. refute C. reform D. refrain
6. We can't find money for life necessities, _ such luxuries as wine and tobacco.
A. leave alone B. let alone C. let well alone D. buy alone

he works hard, I don’t mind when he finishes the experiment.

J— 1 —
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A. As soon as B. As well as C. So far as D. So long as
8. Un_til then, his family _ from him for six months.
“A. didn’( hear B. hasn’t been heéring ‘
(w “hasn't heard b D). hadn’t heard “
9. ________in arecent science competition, the three Stucéems were awarded scholarships 1o-

taling $ 21, 000.
A. Judged the best B. Judging the hest
C. To be judged the best D. Having judged the best

10. We agreed to accept _ they thought was the best tourist guide.

A. whatever B. whomever C. whichever D. whoever

[T Cloze Test (10 points, 1 point for each) FHIEXHH 10 A l, BIATHE 4 M,

RELTXEREHBELR, HESHE HISHRNTRRE,

Of all the things we eat and drink, water is the __11 important. Not many people real-
ize this, _ 12 it is quite true. The human body can go without food for a long time, but (wo
_ 13 three days without water usually result in death. Many people do not understand how
_14 _ water the human body needs to work properly and many people _ 15 especially in
hot weather. Most people drink when they are thirsty but often need more water, especially
16 we have been taking exercises.

A man’s body contains 65 10 75 percent of water. Water is very important in several dif-
ferent ways. Most people need about five _17  seven liters of water every day, but we do not
need to drink this amount __18  a lot come from the food we eat. If we do not have _19
water, however, we feel tired and may become ill. Do you know __20 _ the best drink is?

Yes, you are right. Cold water!

I1. A. least B. more C. most D. much
12. A.but B. however C.so D. that
13. \A. and B. but C. for D. or
14. A. can B. little C. much D. many
15. A. do not drink enough B. like to drink much

C. never drink D. drink far too much
16. A. unless B. if C.s0 ‘ D. that
17. A. and ' B. from C. or D. to
18. A. because B.if C. that D. yet

_ 2 —
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19. A.all B. enough C. every D. some

20. A that B. when C. where D. what

. Reading Comprehension {30 points, 2 points for each) M NS B BB IXHIBIEfE 48 Ky 4
MEFPEE—ITRESTR, FEZTRELBEBENFEERE,

Passage 1

Questions 21 o 25 are based on the [ollowing passage.

George Washington Carver showed that plant life was more than just food for animals and
humans. Carver’s first step was (o analyze plant parts to find out what they were made of. He
then combined these simpler isolated substances with other substances to create new products.

The branch of chemistry that studies and finds ways to use raw materials from farm prod-
ucts to make industrial products is called chemurgy. Carver was one of the first and greatest
chemurgists of all time. Today the science of synthetics is widely used. Each day people depend
on and use synthetic materials made from raw materials. All his life Carver battled against the
disposal of waste materials, and warned of the growing need to develop substitutes for the natu-
ral substances being used up by humans.

Carver never cared about geui/ng credit for the new products he created. He never (ried 1o
patent his discoveries or get wealthy from them. He turned down many offers 1o leave
Tuskegee Institute 1o become a rich scientist in private industry. Thomas Edison, inventor of
the electric light, offered him a laboratory in Detroit to carry out food research. When the U-
nited States government made him a collaborator in the Mycology and Plant Disease Survey of

the Department of Agriculture, he accepted the position with the understanding that he

wouldn’ t have to leave Tuskegee. An authority on plant diseases especially of the fungus

variety Carver sent hundreds of specimens to the United States Department of Agriculture.
At the peak of his career, Carver’s fame and influence were known on every continent.
21. With what topic is the passage mainly concerned?
A. The work and career of George Washington Carver.
B. The research conducted at Tuskegee Institute.
C. The progress of the science of synthetics.
D. The use of plants as a source of nutrition.
22. In line 2, the word “step” could best be replaced by

A footprint B. action C. scale D. stair
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23. Which of the following is NOT discussed in the passage as work done by carver?

AL
C.

Research on electricity B. Analyses of plant parts

Invention of new products D. Research on plant diseases

24. According 1o the passage, chemurgy can be defined as the

A.
B.
C.
D.

cambination of chemistry and metallurgy
research on chemistry of the soil
study of the relationship between sunlight and energy

development of industrial products from farm products

25. Why does the author mention Thomas Edison’s offer to Carver?

A. To illustrate one of Carver’s many opportunities.

B.
C.
D.

To portray the wealth of one of Carver’s competitors.
To contrast Edison’s contribution with that of Carver.

To describe Carver’s dependence on industrial support.

Passage 2

Questions 26 to 30 are based on the following passage.

In 776 B.C. the first Olympic Games were held at the foot of Mount Olympus to honor

the Greeks™ chief god, Zeus. The Greeks emphasized physical fitness and strength in their edu-

cation of youth. Therefore, contests in running, jumping, discus and javelin throwing, box-

ing, and horse and chariot racing were held in individual cities, and the winners competed ev-

ery four years at Mount Olympus. Winners were greatly honored by having olive wreaths

placed on their heads and having poems sung about their deeds. Originally these were held as

games of friendship, and any wars in progress were halted to allow the games to take place.

The Greeks attached so much importance to these games that they calculated time in four-

year cycles called “Olympiads” dating from 776 B.C.

26. Which of the following is not true?

A.
B.
C.
D.

Winners placed olive wreaths on their own heads.
The games were held in Greece every four years.
Battles were interrupted to participate in the games.

Poems glorified the winners in song.

27. Approximately how many years ago did these games originate?

A.

776 years B. 1,205 years C. 2,277 years - D. 2,770 years

28. What conclusion can we draw about the ancient Greeks?

— 4 —
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A. They liked 1o fight.
B. They were very athletic.
C. They liked a lot of ceremony.

D. They couldn’t count, so they used “Olympiads” for dates.
29. Why did they held the first Olympic Games?
A. To honor the Greeks’ chief god.
B. To have a maich
C. To build their body
D. To communicate with other countries
30. Which of the following chaices is not included in the first Olympic Games?

A. running B. jumping C. boxing D. swimming
Passage 3

Questions 31 to 35 are based on the following passage.

In order to learn to be one’s true self, it is necessary to obtain a wide and extensive knowl-
edge of what has been said and done in the world; critically to inquire into it; carefully to con-
sider it; clearly to analyze it; and earnestly to carry it out.

It matters not what you learn, but when you once learn a thing, you must never give it up
until you have mastered it. It matters not what you inquire into, but when you once inquire in-
to a thing, you must never give it up until you have thoroughly understood it. It matters not
what you try to think of, but when you once try to think of a thing, you must never give it up
until you have got what you want. It matters not what you try to carry it out, but when you
once try 1o carry out a thing, you must never give it up until you have done it thoroughly and
well.

If another man succeeds by one effort, you will use a hundred efforts. If another man suc-
ceeds by ten efforts, you will use a thousand.

31. According to the author, fist of all one must

A. obtain knowledge . B. inquire

C. analyze D. act
32. The end of learning should be

A. thought B. inquire C. mastery D. analysis
33. Which of the following is implied but NOT stated?

A. Tt is necessary to obtain a wide knowledge of what has been said and done in the

.._5_
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34.

35.

36.
37.
38.

40.
al.
42.
43.
44.
45.
46.
47.
48.
49.

50

world.
B. The way to knowledge is through specialization.
(. Success depends not so much on natural ability as it does on effort.

D. Success in one's profession is least important in one’s life.

The author tells us ___ is very important for success.
A. effort B. intelligence
C. good communication D. talent
Which of the following choices is true?

A. What you learn is important
B. What you inquire into is important
C. What you try to think of is important

D. You should do more than others to obtain your goal

PART TWO

- Word Spelling (10 points, 1 point for two words)$§ T 3l iB 8 i71% 5 XiBH SR L WE

£

{588, B IR n. . s_

BRZ - n. . P

%4, B N o
. W " a. n. _

=i num. m__

B1%K n. |

o, RH n. h_

#e vt. g

o~ B n. f_

IR A .

£ X, B X n. d .

B, TR n. o

ﬁ,@jiﬁ n. p__

a1, 88 n. P_

E)\,E‘:% n.
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51.
52.
53.
54.
55.

56.

57.

58.
59.

60.
61.
62.
63.

64.
65.

66

®EE vt. e__ ‘'

BIEW, F RN a. e__
W, IR vi. d___
bk, M vt. c__
THE AN v. b_

. Word Form (10 points, 1 point for each) S PHF AT HEYEEAATH, TX
SHEEEHE,

lacking a cure for AIDS, society must offer education, not only by public (pro-
nounce) but in classrooms.

The educational challenge, then, is _ (enlighten) the individual and the social, or
public, responses to it.

She arrived (early) than the others.

By the time of next year, we (finish) building the great bridge over the Yellow
River. |

It isn’t easy (inspire) in the spontaneous way for long periods at a stretch.

Do not let this _____ (say) of you.

What it does is (punish) prisoners for the ills of society.

The more seriously this is sought, the more likely positive attitudes towards leisure as well
as academic work ¢encourage) .

It has been decided that the meal (be) ready before 12 o’ clock.

You mustn’t delay (send) the letter to the general manager.

- Translation from Chinese into English (15 points, 3 points for each)$§ T 51 & 43% B % iB 3+
RERSEEREL, |
AEELHREIHREE, XBEELI T ZLEKE.,

67. W AREBS R BER A THY BOKRE /1 & T 1y 48,
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68. BT -4 H WG 155 3h 5K S 3 B KA 7

69 T B A BIWRK, B M o

70 L BRI AR, T A = A AT LR O AR

Wl Translation from English into Chinese (15 points) & FHIEIFR NEHE R XS HLTH

£

There is more agreement on the kinds of behavior referred to by the term “intelligence”
than there is on how to interpret or classify them. But it is generally agreed that a person of
high intelligence is one who can grasp ideas readily, make distinctions,  reason logicaily, and
make use of verbal and mathematical symbols in solving problems. An intelligence test is a
rough measure of a child’s capacity for learning, particularly for learning the kinds of things re-
quired in school. It does not measure character, social adjustment, physical endurance, manual

skills, or artistic abilities. It is not supposed to, it was not designed for such purposes.
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PART ONE

. Vocabulary and Structure( 10 points, 1 point for each ) A T 5l & 6 4 N Mh sk H— B EE

AR, FEXEE L BEHFERE,

I meet my old friend on the bus the day before yesterday. ( )
A. happened to B. pleased to C. tended to D. delighted to
. Strictly speaking, picking flowers in a public park is . « )
A. refused B. prevented C. allowed D. prohibited
. We often mistake Barbara her sister. ( )
A. as B. for C. to D. with
. Study after study has shown that you cannot _____ people from committing crimes by
punishment or the threat of punishment. . ( )
A. force B. encourage C. persuade D. prevent
. The survival of the tundra depends on how carefully people maintaint the _________ balance
of nature in this environment. ' ( )
A. delicate B. sensible C. random D. potential | .
. We had a party last montﬁ, and it was a lot of fun, so let’s have ________one this month.
( )
A. another - B. more C. the other D. other
can’t be understood by anyone. ( )
A. That he was talking about B. What he was talking about
C. He was talking about D. What was he talking about
. I congratulated Tom on his new as ambassador to the United States. ( )
A. acknowledgement B. appointment C. approval D. assertion

_9_ .
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9. Before _______ for the job, you should prepare for how to introduce yourself. ( )
A. being interviewed B. interviewed
C. interviewing D. having interviewed

10. Physics is a rather ______ subject involving the study of matter and motion. ( )
A. complete B. realistic C. complex D. typical

[l . Cloze Test (10 points, 1 point for each) FHIEXhH 10 /T H, BATATE 4 NEM,

MELTABRELBEETR, FESTR LFBENFERE,

In some countries, women are paid less than men for the same work.

The employers’ argument in places 11 this happens is that men usually have a wife
and children to support and women usually have _ 12 . They say that most women workers
aié _1:_5__ unmarried and have no one to support, or have husbands who also work and bring
home money, so that it would be unjust for them to be paid as much _l_ a mdn who has a
wife _ 15  does not work because she has several children at home to look after.

This __16 _ is quite true; but you do find some men workers who are unmarried and have
no one to support, and some women workers who are widows and have children to support,
Other women workers, __17 _ they have no children, may have old or __ 18 - parents and
young brothers and sisters who cannot yet work.

The fact is that the problem of paying workers _ 19 to their family needs cannot be
solved simply by giving the men more and the women less. The answer is to pay both _ 20 ,

rand to leave it to the state to see that justice is done by means of taxation and allowances.

11. A. which B. when C. where D. How ( )
12. A. one B. both C. also- D. not ( )
13. A. either B. or C. and D. but ( )
14+ A. that B. as C. in D. so ( )
15. A. and B. who C. he D. she ( )
16. A. however B. therefore C. for example D. of course ( )
17. A. though B. when C. because D. unless ( )
18. A. young B. no C. sick D. single ( )
19. A. regarding B. according C. owing D. relating ( )
20. A. same B. different C. alike D. likely ( )

. Réading Comprehension (30 points, 2 points for each) T~ 35Il48 J 48 3 89 S /S Br48 1% 4




